Engincering Analysis 3¢ Probability Quiz-1
Dr. Safaa A. 2023-2022

Q1: Suppose a discrete r.v. X has the following pmf (probability mass function):

1. Find and sketch the CDF (F(x)) of the r.v. X.

2. Calculate P(X < 1).

3. Compute P(1 < X < 2).

4. Find the mean (), mean square (E[X?]), and the variance (a?).

Q2: The joint pdf (probability density function) of the random variables X and Y is
given by:
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1. Find the constant k.
2. The marginal probability function for X and Y (P(X) and P(Y)).

3. The mean for each random variable (#y and uy).
4. The conditional probabilities P(Y|X) and P(X|Y).

Bonus: Consider a telegraph source generating two symbols, ‘0°, and ‘1’. We
observed that the ‘0’ were twice as likely to occur as the ‘1’. Find the
probabilities of the ‘0’ occurring and the ‘1’ occurring.
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